## Open Mathematics

## Research Article

Chen Zhuoyu and Zhang Wenpeng*

# On the fourth-order linear recurrence formula related to classical Gauss sums 

https://doi.org/10.1515/math-2017-0104
Received March 14, 2017; accepted August 1, 2017.
Abstract: Let $p$ be an odd prime with $p \equiv 1 \bmod 4, k$ be any positive integer, $\psi$ be any fourth-order character mod $p$. In this paper, we use the analytic method and the properties of character sums $\bmod p$ to study the computational problem of $G(k, p)=\tau^{k}(\psi)+\tau^{k}(\bar{\psi})$, and give an interesting fourth-order linear recurrence formula for it, where $\tau(\psi)$ denotes the classical Gauss sums.

Keywords: The classical Gauss sums, Fourth-order linear recurrence formula, Analytic method, Character sums
MSC: 11L05, 11L07, 11T24

## 1 Introduction

Let $q \geq 3$ be a positive integer. For any positive integer $k \geq 2$, the $k$-th Gauss sums $G(m, k ; q)$ is defined as

$$
A(m, k ; q)=\sum_{a=1}^{q} e\left(\frac{m a^{k}}{q}\right)
$$

where $e(y)=e^{2 \pi i y}$.
Recently, some scholars have studied the properties of $A(m, k ; q)$, and obtained many interesting results. For example, Shen Shimeng and Zhang Wenpeng [1] proved a recurrence formula related to $A(m, 4 ; p)$. Li Xiaoxue and Hu Jiayuan [2] studied the computational problem of the hybrid power mean

$$
\begin{equation*}
\sum_{b=1}^{p-1}\left|\sum_{a=0}^{p-1} e\left(\frac{b a^{4}}{p}\right)\right|^{2} \cdot\left|\sum_{c=1}^{p-1} e\left(\frac{b c+\bar{c}}{p}\right)\right|^{2} \tag{1}
\end{equation*}
$$

where $p$ is an odd prime with $p \equiv 1 \bmod 4$. They proved the identity

$$
\begin{aligned}
& \sum_{b=1}^{p-1}\left|\sum_{a=0}^{p-1} e\left(\frac{b a^{4}}{p}\right)\right|^{2} \cdot\left|\sum_{c=1}^{p-1} e\left(\frac{b c+\bar{c}}{p}\right)\right|^{2} \\
= & \begin{cases}3 p^{3}-3 p^{2}-3 p+p\left(\tau^{2}\left(\bar{\chi}_{4}\right)+\tau^{2}\left(\chi_{4}\right)\right), & \text { if } p \equiv 5 \bmod 8 ; \\
3 p^{3}-3 p^{2}-3 p-p \tau^{2}\left(\bar{\chi}_{4}\right)-p \tau^{2}\left(\chi_{4}\right)+2 \tau^{5}\left(\bar{\chi}_{4}\right)+2 \tau^{5}\left(\chi_{4}\right), & \text { if } p \equiv 1 \bmod 8,\end{cases}
\end{aligned}
$$

where $\chi_{4}$ denotes any fourth-order character $\bmod p, \tau(\chi)=\sum_{a=1}^{p-1} \chi(a) e\left(\frac{a}{p}\right)$ denotes the classical Gauss sums, and $\bar{c}$ denotes the multiplicative inverse of $c \bmod p$.

Li Xiaoxue and Hu Jiayuan [2] also computed the exact value of $\tau^{2}\left(\bar{\chi}_{4}\right)+\tau^{2}\left(\chi_{4}\right)$ and $\tau^{5}\left(\bar{\chi}_{4}\right)+\tau^{5}\left(\chi_{4}\right)$.

[^0]Other works related to $k$-th Gauss sums and the generalized $k$-th Gauss sums can be found in [3-10].
Now let $p$ be an odd prime with $p \equiv 1 \bmod 4, \psi$ be any fourth-order character $\bmod p$, and we also define $G(k, p)$ as

$$
G(k, p)=\tau^{k}(\psi)+\tau^{k}(\bar{\psi})
$$

In this paper, we employ a remark of [2] by using the analytic method and the properties of the classical Gauss sums to study the computational problem of $G(k, p)$ for any positive integer $k$, and give an interesting fourth-order linear recurrence formula for $G(k, p)$. That is, we will prove the following result.

Theorem. Let $p$ be an odd prime with $p \equiv 1 \bmod 4$. Then for any positive integer $k$, we have the linear recurrence formulae

$$
G(2 k+2, p)=2 \sqrt{p} \cdot \alpha \cdot G(2 k, p)-p^{2} \cdot G(2 k-2, p)
$$

and

$$
G(2 k+3, p)=2 \sqrt{p} \cdot \alpha \cdot G(2 k+1, p)-p^{2} \cdot G(2 k-1, p)
$$

where $G(0, p)=2, G(1, p)=A(1)-\sqrt{p}, A(1)=A(1,4 ; p), G(2, p)=2 \sqrt{p} \alpha, G(3, p)=\sqrt{p}$. $\left(2 \alpha-(-1)^{\frac{p-1}{4}} \sqrt{p}\right) \cdot(A(1)-\sqrt{p}), \alpha=\sum_{a=1}^{\frac{p-1}{2}}\left(\frac{a+\bar{a}}{p}\right)$ and $\left(\frac{*}{p}\right)$ is the Legendre's symbol mod $p$.

From these recurrence formulae, we can obtain the exact value of $G(k, p)$ for all positive integer $k$. Hence, we can also deduce the following corollaries:

Corollary 1.1. Let $p$ be an odd prime with $p \equiv 5 \bmod 8$. Then we have:

$$
\sum_{b=1}^{p-1}\left|\sum_{a=0}^{p-1} e\left(\frac{b a^{4}}{p}\right)\right|^{2} \cdot\left|\sum_{c=1}^{p-1} e\left(\frac{b c+\bar{c}}{p}\right)\right|^{2}=3 p^{3}-3 p^{2}+2 p^{\frac{3}{2}} \alpha-3 p
$$

Corollary 1.2. For odd prime $p$ with $p \equiv 1 \bmod 8$, we have the identity

$$
\begin{aligned}
& \sum_{b=1}^{p-1}\left|\sum_{a=0}^{p-1} e\left(\frac{b a^{4}}{p}\right)\right|^{2} \cdot\left|\sum_{c=1}^{p-1} e\left(\frac{b c+\bar{c}}{p}\right)\right|^{2} \\
= & 3 p^{3}-3 p^{2}-2 p^{\frac{3}{2}} \alpha-3 p+I(\psi) 2 \sqrt{2 p+2 \sqrt{p} \alpha}\left(4 p \alpha^{2}-p^{2}+2 p^{\frac{3}{2}} \alpha\right),
\end{aligned}
$$

where $I(\psi)=1$ if $G(1, p)$ is positive, and $I(\psi)=-1$ if $G(1, p)$ is negative.
Corollary 1.3. For any prime $p$ with $p \equiv 5 \bmod 8$, we have the identities

$$
|G(1, p)|=\sqrt{2 p-2 \sqrt{p} \alpha} \quad \text { and } \quad|G(5, p)|=\sqrt{2 p-2 \sqrt{p} \alpha} \cdot\left|4 p \alpha^{2}-p^{2}+2 p^{\frac{3}{2}} \alpha\right|
$$

Corollary 1.4. Let $p$ be an odd prime with $p \equiv 5 \bmod 8$, then we have

$$
\left|\sum_{a=0}^{p-1} e\left(\frac{a^{4}}{p}\right)\right|=\sqrt{3 p-2 \sqrt{p} \alpha}
$$

It is clear that Corollary 1.1 and Corollary 1.2 improved the results of [2].

## 2 Several Lemmas

In this section, we need several simple lemmas, which are necessary in the proof of our theorem. Hereinafter, we will use many properties of the classical Gauss sums, all of which can be found in [11]; so they will not be repeated here. First we have the following:

Lemma 2.1. Let $p$ be an odd prime with $p \equiv 1 \bmod 4$. Then for any quadratic non-residue $r \bmod p$, we have the identity

$$
p=\alpha^{2}+\beta^{2} \equiv\left(\sum_{a=1}^{\frac{p-1}{2}}\left(\frac{a+\bar{a}}{p}\right)\right)^{2}+\left(\sum_{a=1}^{\frac{p-1}{2}}\left(\frac{a+r \bar{a}}{p}\right)\right)^{2}
$$

where $\left(\frac{*}{p}\right)$ denotes the Legendre's symbol $\bmod p$, and $\bar{a}$ denotes the multiplicative inverse of a $\bmod p$.
Proof. This is a well known result. See Theorem 4-11 in [12].
Lemma 2.2. Let $p$ be an odd prime with $p \equiv 1 \bmod 4, \psi$ be any fourth-order character $\bmod p$. Then we have the identity

$$
G(2, p)=\tau^{2}(\psi)+\tau^{2}(\bar{\psi})=\sqrt{p} \cdot \sum_{a=1}^{p-1}\left(\frac{a+\bar{a}}{p}\right)=2 \sqrt{p} \cdot \alpha
$$

Proof. Let $\psi$ be any fourth-order character mod $p$, it is clear that $\psi^{2}=\left(\frac{*}{p}\right)=\chi_{2}$, the Legendre's symbol $\bmod p$. Then from the definition and properties of the classical Gauss sums we have

$$
\begin{equation*}
\tau^{2}(\psi)=\sum_{a=1}^{p-1} \sum_{b=1}^{p-1} \psi(a b) e\left(\frac{a+b}{p}\right)=\sum_{a=1}^{p-1} \psi(a) \sum_{b=1}^{p-1} \chi_{2}(b) e\left(\frac{b(a+1)}{p}\right)=\tau\left(\chi_{2}\right) \cdot \sum_{a=1}^{p-1} \psi(a) \chi_{2}(a+1) . \tag{2}
\end{equation*}
$$

Similarly, we also have

$$
\begin{equation*}
\tau^{2}(\bar{\psi})=\tau\left(\chi_{2}\right) \cdot \sum_{a=1}^{p-1} \bar{\psi}(a) \chi_{2}(a+1) \tag{3}
\end{equation*}
$$

As $\psi$ is a fourth-order character $\bmod p$, for any integer $m$ with $(m, p)=1$, we have

$$
1+\psi(m)+\chi_{2}(m)+\bar{\psi}(m)=\left\{\begin{array}{l}
4, \text { if } m \text { satisfies } m \equiv c^{4} \bmod p \text { for some integer } c \text { with }(c, p)=1 \\
0, \text { if otherwise }
\end{array}\right.
$$

Note that for prime $p$ with $p \equiv 1 \bmod 4$, one has identity $\tau\left(\chi_{2}\right)=\sqrt{p}$. From (2) and (3) we have

$$
\begin{aligned}
\tau^{2}(\psi)+\tau^{2}(\bar{\psi})= & \sqrt{p} \cdot \sum_{a=1}^{p-1} \psi(a) \chi_{2}(a+1)+\sqrt{p} \cdot \sum_{a=1}^{p-1} \bar{\psi}(a) \chi_{2}(a+1) \\
= & \sqrt{p} \cdot \sum_{a=1}^{p-1}\left(1+\psi(a)+\chi_{2}(a)+\bar{\psi}(a)\right) \chi_{2}(a) \\
& -\sqrt{p} \sum_{a=1}^{p-1} \chi_{2}(a+1)-\sqrt{p} \sum_{a=1}^{p-1} \chi_{2}(a) \chi_{2}(a+1) \\
= & \sqrt{p} \cdot \sum_{a=1}^{p-1} \chi_{2}\left(a^{4}+1\right)-\sqrt{p} \cdot \sum_{a=1}^{p-1} \chi_{2}(a)-\sqrt{p} \cdot \sum_{a=1}^{p-1} \chi_{2}(1+\bar{a})+\sqrt{p} \\
= & \sqrt{p} \cdot \sum_{a=1}^{p-1}\left(1+\chi_{2}(a)\right) \chi_{2}\left(a^{2}+1\right)+2 \sqrt{p} \\
= & \sqrt{p} \cdot \sum_{a=1}^{p-1}\left(1+\chi_{2}(a)\right) \chi_{2}(a+1)+\sqrt{p} \cdot \sum_{a=1}^{p-1} \chi_{2}(a+\bar{a})+2 \sqrt{p} \\
= & \sqrt{p} \cdot \sum_{a=1}^{p-1}\left(\frac{a+\bar{a}}{p}\right)=2 \sqrt{p} \cdot \alpha .
\end{aligned}
$$

This proves Lemma 2.2.

Lemma 2.3. Let $p$ be an odd prime with $p \equiv 1 \bmod 4, \psi$ be any fourth-order character $\bmod p$. Then we have the identities

$$
\tau(\psi)+\tau(\bar{\psi})=A(1)-\sqrt{p} \quad \text { and } \quad \tau(\psi) \tau(\bar{\psi})=(-1)^{\frac{p-1}{4}} \cdot p
$$

where $A(m)=\sum_{a=0}^{p-1} e\left(\frac{m a^{4}}{p}\right)$.
Proof. As $\psi$ is a fourth-order character mod $p$, from the definition of the classical Gauss sums, we have:

$$
\begin{align*}
A(1) & =\sum_{a=0}^{p-1} e\left(\frac{a^{4}}{p}\right)=1+\sum_{a=1}^{p-1}\left(1+\psi(a)+\chi_{2}(a)+\bar{\psi}(a)\right) e\left(\frac{a}{p}\right) \\
& =\sum_{a=0}^{p-1} e\left(\frac{a}{p}\right)+\sum_{a=1}^{p-1} \psi(a) e\left(\frac{a}{p}\right)+\sum_{a=1}^{p-1} \chi_{2}(a) e\left(\frac{a}{p}\right)+\sum_{a=1}^{p-1} \bar{\psi}(a) e\left(\frac{a}{p}\right) \\
& =\tau(\psi)+\sqrt{p}+\tau(\bar{\psi}) . \tag{4}
\end{align*}
$$

Note the identities:

$$
\overline{\tau(\psi)}=\sum_{a=1}^{p-1} \bar{\psi}(a) e\left(\frac{-a}{p}\right)=\bar{\psi}(-1) \cdot \sum_{a=1}^{p-1} \bar{\psi}(a) e\left(\frac{a}{p}\right)=\bar{\psi}(-1) \cdot \tau(\bar{\psi}),
$$

$\tau(\psi) \cdot \overline{\tau(\psi)}=p$ and $\psi(-1)=(-1)^{\frac{p-1}{4}}$. Hence,

$$
\begin{equation*}
\tau(\psi) \cdot \tau(\bar{\psi})=(-1)^{\frac{p-1}{4}} \cdot \tau(\psi) \cdot \overline{\tau(\psi)}=(-1)^{\frac{p-1}{4}} \cdot p \tag{5}
\end{equation*}
$$

Now Lemma 2.3 follows from equations (4) and (5).

## 3 Proof of the main results

In this section, we shall complete the proof of our theorem. Let $G(k, p)=\tau^{k}(\psi)+\tau^{k}(\psi)$, then for any integer $k \geq 1$, note that $\tau^{2}(\psi) \tau^{2}(\bar{\psi})=p^{2}$. From Lemmas 2.1 and 2.2 we have

$$
\begin{aligned}
2 \sqrt{p} \cdot \alpha \cdot G(2 k, p) & =G(2, p) \cdot G(2 k, p) \\
& =\left(\tau^{2}(\psi)+\tau^{2}(\bar{\psi})\right)\left(\tau^{2 k}(\psi)+\tau^{2 k}(\bar{\psi})\right) \\
& =\tau^{2 k+2}(\psi)+\tau^{2 k+2}(\bar{\psi})+p^{2} \tau^{2 k-2}(\psi)+p^{2} \tau^{2 k-2}(\bar{\psi}) \\
& =G(2 k+2, p)+p^{2} \cdot G(2 k-2, p)
\end{aligned}
$$

So we have

$$
\begin{equation*}
G(2 k+2, p)=2 \sqrt{p} \cdot \alpha \cdot G(2 k, p)-p^{2} \cdot G(2 k-2, p) \tag{6}
\end{equation*}
$$

Similarly, from Lemma 2.2 and Lemma 2.3 we also have

$$
\begin{aligned}
& 2 \sqrt{p} \cdot \alpha \cdot G(2 k+1, p)=G(2, p) \cdot G(2 k+1, p) \\
= & \left(\tau^{2}(\psi)+\tau^{2}(\bar{\psi})\right)\left(\tau^{2 k+1}(\psi)+\tau^{2 k+1}(\bar{\psi})\right) \\
= & \tau^{2 k+3}(\psi)+\tau^{2 k+3}(\bar{\psi})+p^{2} \tau^{2 k-1}(\psi)+p^{2} \tau^{2 k-1}(\bar{\psi}) \\
= & G(2 k+3, p)+p^{2} \cdot G(2 k-1, p),
\end{aligned}
$$

The last equation implies:

$$
\begin{equation*}
G(2 k+3, p)=2 \sqrt{p} \cdot \alpha \cdot G(2 k+1, p)-p^{2} \cdot G(2 k-1, p) \tag{7}
\end{equation*}
$$

for all integer $k \geq 1$.
Now our Theorem follows from equations (6) and (7).

Proof of Corollary 1.3. For any prime $p$ with $p \equiv 5 \bmod p$, note that $\psi(-1)=-1$ and $\overline{G(1, p)}=-G(1, p)$; so $G(1, p)$ is pure imaginary. Thus, from Lemma 2.2 we have

$$
\begin{equation*}
|G(1, p)|=\sqrt{\left|\tau^{2}(\psi)+\tau^{2}(\bar{\psi})-2 p\right|}=\sqrt{2 p-2 \sqrt{p} \alpha} \tag{8}
\end{equation*}
$$

Applying the main Theorem proved and Lemma 2.1 together with $\tau(\psi) \tau(\bar{\psi})=-p$, we have $G(4, p)=G^{2}(2, p)-$ $2 p^{2}=2 p\left(\alpha^{2}-\beta^{2}\right)$ and

$$
G(1, p) G(4, p)=G(5, p)-p G(3, p)=G(5)-p G(1, p)(G(2, p)+p)
$$

Hence

$$
\begin{equation*}
G(5, p)=G(1, p)\left(2 p\left(\alpha^{2}-\beta^{2}\right)-2 p^{\frac{3}{2}} \alpha+p^{2}\right)=G(1, p)\left(4 p \alpha^{2}-p^{2}-2 p^{\frac{3}{2}} \alpha\right) \tag{9}
\end{equation*}
$$

Now Corollary 1.3 follows from equations (8) and (9).
Proof of Corollary 1.4. we note that $A(1)=G(1, p)+\sqrt{p}$ and $G(1, p)$ is pure imaginary; so from (8) we have

$$
|A(1)|=\left|\sum_{a=0}^{p-1} e\left(\frac{a^{4}}{p}\right)\right|=\sqrt{|G(1, p)|^{2}+p}=\sqrt{3 p-2 \sqrt{p} \alpha} .
$$

This completes the proof.

## Competing interests

The authors declare that they have no competing interests.

Acknowledgement: The authors would like to thank the referees for their very helpful and detailed comments, which have significantly improved the presentation of this paper.

This work is supported by the N.S.F. (11371291) of P. R. China.

## References

[1] Shen S. M., Zhang W. P., On the quartic Gauss sums and their recurrence property, Advances in Difference Equations, 2017, 2017: 43
[2] Li X. X., Hu J. Y., The hybrid power mean quartic Gauss sums and Kloosterman sums, Open Mathematics, 2017, 15, 151-156
[3] Weil A., On some exponential sums, Proc. Nat. Acad. Sci. U.S.A., 1948, 34, 204-207
[4] Zhang W. P., Liu H. N., On the general Gauss sums and their fourth power mean, Osaka Journal of Mathematics, 2005, 42, 189199
[5] Han D., A Hybrid mean value involving two-term exponential sums and polynomial character sums, Czechoslovak Mathematical Journal, 2014, 64, 53-62
[6] Zhang W. P., Han D., On the sixth power mean of the two-term exponential sums, Journal of Number Theory, 2014, 136, 403-413
[7] Cochrane T., Exponential sums modulo prime powers, Acta Arithmetica, 2002, 101, 131-149
[8] Cochrane T., Pinner C., Using Stepanov's method for exponential sums involving rational functions, Journal of Number Theory, 2006, 116, 270-292
[9] Zhang W. P., On the number of the solutions of one kind congruence equation mod $p$, Journal of Northwest University (Natural Science Edition), 2016, 46(3), 313-316
[10] Ren G. L., On the fourth power mean of one kind special quadratic Gauss sums, Journal of Northwest University (Natural Science Edition), 2016, 46(3), 321-324
[11] Apostol T. M., Introduction to Analytic Number Theory, Springer-Verlag, New York, 1976
[12] Zhang W. P., Li H. L., Elementary Number Theory, Shaanxi Normal University Press, Xi'an, 2008


[^0]:    Chen Zhuoyu: School of Mathematics, Northwest University, Xi’an, Shaanxi, China
    *Corresponding Author: Zhang Wenpeng: School of Mathematics, Northwest University, Xi'an, Shaanxi, China,
    E-mail: wpzhang@nwu.edu.cn

